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100 Questions

Que. 1 Direction: Read the following information carefully and answer the question that follows:
Eight persons - A, B, C, D, E, F, G  and H were born in different months of January to August of the

same year but not necessarily in the same order. Not more than one person is born in a month. G was born in a
month that has 31 days but not in the month of May. There is a gap of one month between G and A. A born
somewhere after G. B was born in the month which has the least number of days.  E was born immediately after
C. Number of persons born before E is one more than the number of person born after E. F born before D. There
is a gap of two months between A and H.

How many persons born before C?

Correct Option - 3

One1.
Two2.
Three3.
Four4.
No one5.

Que. 2 Who born in the month of January?

Correct Option - 3

A1.
B2.
G3.
D4.
F5.

Que. 3 Which of the following persons born in the month which has 30 days?

Correct Option - 4

A, G1.
C, G2.
H, D3.
C, H4.
H, B5.

Que. 4 Who born immediately after F?

Correct Option - 4

A1.
G2.
C3.
D4.
H5.
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Que. 5 Which of the following statement is true?

Correct Option - 3

G was born in the month of March.1.
There are two persons between A and E.2.
E was born immediately before H. 3.
H was born in the month of July.4.
None is correct.5.

Que. 6 Direction: In the following question assuming the given statements to be true, find which of the
conclusion among given conclusions is/are definitely true and then give your answers accordingly.

Statements: M > L = O < K; O < Q ≥ S
Conclusions: 
I. K > Q
II. S > M

Correct Option - 5

Only I follow1.

Only II follow2.

Both I and II follow3.

Either I or II follows4.

Neither I nor II follows5.

Que. 7 Directions: In the following question assuming the given statements to be true, find which of the
conclusion among the given conclusions is/are definitely true and then give your answers accordingly.

Statement: P ≤ Q < R = S; P ≥ L < M; N > S
Conclusion:
I. L < Q
II. Q = L

Correct Option - 5

Only I follow1.
Only II follow2.
Both I and II follow3.
Neither I nor II follow4.
Either I or II follow5.

Que. 8 Directions: In the following question assuming the given statements to be true, Find which of the
conclusion among the given conclusions is/are definitely true and then give your answers accordingly.

Statement: A > B > C < D; E ≥ D; A ≥ Z
Conclusion:
I. A > D
II. C < E

Only II follow1.
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Correct Option - 1

Only I follow2.
Both I and II follow3.
Neither I nor II follow4.
Either I or II follow5.

Que. 9 Directions: Study the following information carefully and answer the questions followed by it.
Eight persons, A, B, C, D, E, F, G and H buy some stuff on different occasions.

Four persons buy between E and F. A buys on the fifth number. B buys just after D. Neither E nor F buys first or
at the last. The number of persons who buy between A and D is equal to the number of persons who buy between
A and F. G buys after H but not on the 6th number. C does not buy at the first number.

Four of the following persons are similar somehow and form a group, which of the following does not belong to
that group?

Correct Option - 5

D1.
H2.
F3.
A4.
B5.

Que. 10 Had they bought in reverse alphabetical order, how many of them would have bought at the same
rank?

Correct Option - 2

11.
22.
33.
44.
None5.

Que. 11 Three statements are given below, followed by a question. Read them and answer accordingly.
I. E buys stuff at the second number.

II. C buys stuff just after A.
III. One person buys stuff between D and A.

Correct Option - 4

Only I is true1.
Only II is true2.
II & III are true3.
I, II & III are true4.
None is true5.

Que. 12 Three statements are given below, followed by a question. Read them and answer accordingly.
I. E buys stuff just before B
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II. Three persons buy stuff between F and B.
III. G buys in the last.

Correct Option - 2

None of the statements is true1.
I & II does not follow2.
Only II does not follow3.
II & III does not follow4.
All follow5.

Que. 13 Which of the following buys stuff on 5th number?

Correct Option - 4

D1.
F2.
E3.
A4.
H5.

Que. 14 Directions: Read the given information carefully and answer the following questions.
If in the given word 'PROBLEMATIC', all the consonants are replaced by the previous letter, and all

the vowels are replaced by the next letter according to the English alphabetical series and then all the letters are
arranged in ascending order from left to right according to alphabetical order after eliminating all the vowels and
the letters which are repeated, then which letter which appears fifth from the right end?

Correct Option - 2

L1.
K2.
P3.
J4.
B5.

Que. 15 How many meaningful four-letter English words can be formed from the second, third, fifth, and ninth
letters from the left end of the word 'TROPHOGENIST'?

Correct Option - 4

Two1.
None2.
Three3.
One4.
More than three5.

Que. 16 Study the following information carefully and answer the questions given below:
A certain number of persons are sitting in a row facing to the north. There are four persons sitting

between O and W, who sits third from the extreme right end. I sits 3rd to the left of N. One person sits between I
and J. H sits 4th to the left of J. S sits immediate left of O. Two persons sit between N and S. At least 15 persons
sit between H and W. One person sits between W and V. G sits 2nd from one of the ends. One person sits
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between G and H.
 
How many persons are sitting in the given row?

Correct Option - 4

211.
222.
233.
244.
205.

Que. 17 What is the position of J with respect to N?

Correct Option - 4

Fourth to the left1.
Fourth to the right2.
Fifth to the right3.
Fifth to the left4.
Immediate left5.

Que. 18 How many persons are sitting between H and I?

Correct Option - 1

Five1.
Six2.
Four3.
Seven4.
Three5.

Que. 19 How many persons are sitting on the left of J?

Correct Option - 2

Six1.
Seven2.
Eight3.
Three4.
Five5.

Que. 20 What is the position of V with respect to N?

Correct Option - 4

Fifth to the left1.
Fifth to the right2.
Sixth to the right3.
Seventh to the right4.
Seventh to the left5.
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Que. 21 In a family, P is the only son-in-law of R. L is the daughter of S. Q is the daughter of P. S is the grand
father of Q. How is L related to Q?

Correct Option - 1

Mother1.
Father2.
Brother3.
Cousin4.
Grandmother5.

Que. 22 Direction: Study the information given below carefully and answer the question that follows.
R, S, T, U, V, W and X are seven shops. U is 8 m West of W. T is 5 m North of W and R is 7 m South

of W. X is 2 m East of S while V is 10 m South of X. R is 14 m East of V. 

What is the position of R with respect to X?

Correct Option - 3

North-east1.
North-west2.
South-east3.
South-west4.
South5.

Que. 23 What is the shortest distance between T and V?

Correct Option - 2

1. 2 m65
−−

√

2. 2 m85
−−

√

3. 3 m55
−−

√

4. 3 m65−−
√

5. 4 m35−−
√

Que. 24 Find the odd pair among the following five options (as per the directions).

Correct Option - 4

V and U1.
U and T2.
V and T3.
R and T4.
V and W5.

Que. 25 Direction: Read the following information carefully and answer the question that follows.           
Ten persons A, B, C, D, E, F, G, H, I and J live on five different floors of a building but not necessarily

in the same order. The bottom-most floor is numbered 1, the floor above it is numbered 2 and so on till topmost
floor which is numbered as 5. There are two flats on each floor- flat – 1 and flat – 2 from west to the east such
that flat – 1 is west of flat – 2. Flat – 1 of the second floor is exactly above flat – 1 of the first floor and exactly
below the flat – 1 if the third floor, other flats are placed in the same way.
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C lives North West of D and southwest of A. E lives on the northwest of H. Three floors are there between the
F and B, which is living in the odd flat. Two floors are between B and I, which is the living left of person A.
D living on the same floor as B. Two floors are there between J and C and both are at same in same flat number.

Who is living at the immediately left of person who live in third floor of  flat 2?

Correct Option - 4

A1.
B2.
C3.
E4.
G5.

Que. 26 Four of the following are alike in certain way hence form a group. Find the one which does not
belongs to the group?

Correct Option - 5

C - H1.
I - A2.
B - D3.
E - G4.
C - D5.

Que. 27 Who is living in the south east of the person C?

Correct Option - 2

A1.
D2.
J3.
G4.
E5.

Que. 28 Which of the following statement is true?

Correct Option - 2

D lives immediately above H1.
B lives in Flat 12.
D lives in Flat 13.
No one lives below C4.
No is true.5.

Que. 29 The number of floors above G is same as the number of floors below _____ ?
A1.

H2.
F3.
E4.
C5.
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Correct Option - 4

Que. 30 How many such pairs of digits are there in the number '731648529', each of which has as many digits
between them in the number (both forward and backward direction) as they have between them in the

numerical series?

Correct Option - 4

None1.
One2.
Two3.
Three4.
Four5.

Que. 31 Directions: Read the instructions carefully and answer the question below.
Twelve people are sitting in two rows in such a way that each person of the first row is facing the

respective person of the second row. A, B, C, D, E, and F are sitting in a row that is facing south while L, M, N,
O, P, and Q are facing in a row that is facing north.
E is facing O who is sitting third to the right of Q. D is sitting to the immediate right of the person who is facing
Q. B, who is not an immediate neighbour of D, is sitting on one of the extreme ends. M is an immediate
neighbour of P. P is facing the person who is sitting to the immediate right of C. F is not an immediate neighbour
of D. L is not facing D. 
Who is sitting opposite the person who is sitting to the immediate left of C?

Correct Option - 4

Q1.
A2.
L3.
O4.
F5.

Que. 32 How many persons are sitting between N and P?

Correct Option - 1

One1.
Zero2.
Two3.
Three4.
Four5.

Que. 33 Four of the following five are alike based on their seating positions and thus form a group. Which of 
the following does not belong to the group?

Q1.
L2.
N3.
D4.
B5.
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Correct Option - 1

Que. 34 Who is sitting opposite A?

Correct Option - 4

D1.
L2.
M3.
Q4.
O5.

Que. 35 Which of the following pairs is correctly matched?

Correct Option - 2

DM1.
BL2.
CO3.
AP4.
FQ5.

Que. 36  What should come in the place of (?) in the given series?
 19,30,43,58,75,?

Correct Option - 5

 781.
 762.
 1103.
 984.
 945.

Que. 37  What should come in the place of (?) in the given series?
 42,46,58,78,106,?

Correct Option - 2

 1521.
 1422.
 1443.
 1784.
 1925.

Que. 38  What should come in the place of (?) in the given series?
 ?,18,45,126,369,1098

 111.
 82.
 73.
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Correct Option - 4

 94.
 55.

Que. 39  What should come in the place of (?) in the given series?
 143,170,?,226,255,290

Correct Option - 1

 1951.
 1872.
 1933.
 1944.
 1755.

Que. 40 What should come in the place of (?) in the given series?
7, 5, 6, 12, 40, 190,?

Correct Option - 1

 11281.
 11242.
 11183.
 10184.
 11005.

Que. 41 Prashant bought a laptop from an electronic shop and sold it to Satish at 25% profit. Satish sold it to
Yash at 25% profit. Yash sold it to Shivansh at 20% profit for Rs. 53,250. Find the price at which

Prashant bought the laptop.

Correct Option - 2

Rs. 20,6001.
Rs. 28,4002.
Rs. 25,4003.
Rs. 240004.
None of these5.

Que. 42 The total time taken by a boat to go 120 km upstream and came back to the starting point is 8 hours. If
the speed of the stream is 25% of the speed of the boat in still water, then find the difference between

the upstream speed and the downstream speed of the boat.

Correct Option - 1

16 km/h1.
20 km/h2.
12 km/h3.
15 km/h4.
None of these5.
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Que. 43 Pipes A, B, and C together can fill a tank in 12 hours. Pipes A and B together can fill the same tank in
24 hours. There is another pipe D that can empty this tank in 48 hours. If all the pipes are opened

together and after 8 hours pipes A and B are closed then Find the total time taken to fill this tank.

Correct Option - 3

28 hours1.
34 hours2.
32 hours3.
22 hours4.
38 hours5.

Que. 44 A can do a piece of work in 22 days while B alone can complete the whole work in 26 days. They
work together for 5 days then A left the work and remaining work can done by B alone. In how many

days will finish the whole work?  

Correct Option - 3

13 days1.
15 days2.

 days3. 20 1
11

 days4. 15 1
11

None of these5.

Que. 45 A, B, and C founded a company together. A's and B's respective investment ratios were 3 : 5 and B's
and C's respective investment ratios were 10 : 13. What was the total annual profit earned by all of

them if C received Rs 17628 at the end of the year as the yearly profit. 

Correct Option - 2

378541.
393242.
368243.
492844.
4008345.

Que. 46 There are 300 students in a college. Every student plays different games that is cricket, football and
tennis. Students playing only cricket is twice the number of students playing only cricket and tennis

both that is 20% less than the number of students playing only football and cricket both. Students playing all the
3 sports are 10% of the total number of students and is 50% of students playing only football. The number of
students playing only tennis and the number of students playing only football and tennis both is same that is 2 /
30 of the total number of students. 
If 25% of the students playing only cricket started playing all 3 types of sports, then how many students play all
3 types of sports 

Correct Option - 3

601.
702.
503.
354.
555.
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Que. 47 Find the Ratio of students playing only cricket and only football together to the students playing all of
the 3 sports.

Correct Option - 3

12 : 71.
14 : 152.
14 : 33.
4 : 74.
6 : 115.

Que. 48 Find the number of students playing at least 2 games.

Correct Option - 2

1201.
1402.
1503.
1104.
705.

Que. 49 Find the average number of students playing only one game.

Correct Option - 3

521.
532.
53.333.
54.24.
48.255.

Que. 50 Find Students playing only football is what percent more/less than the students playing both football
and cricket

Correct Option - 1

20%1.
25%2.
15%3.
12%4.
18%5.

Que. 51 In the given question, two equations numbered l and II are given. Solve both the equations and mark
the appropriate answer.

I. x  - 15x + 56 = 0
II. y  - 21y + 80 = 0

2

2

x > y1.
x < y2.
x ≥ y3.
x ≤ y4.
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Correct Option - 5
 x = y or relationship between x and y cannot be established.5.

Que. 52 In the given question, two equations numbered l and II are given. Solve both the equations and mark
the appropriate answer.

I. x  – 10x + 9 = 0
II. y  – 18y + 81 = 0

Correct Option - 3

2

2

x < y1.
x > y2.
x ≤ y3.
x ≥ y4.
x = y or the relation between x and y can't be established.5.

Que. 53 In the given question, two equations numbered l and II are given. Solve both the equations and mark 
the appropriate answer.

I. 5x2 + 6x - 27 = 0

II. y2 + 5y - 14 = 0

Correct Option - 5

x > y1.
x < y2.
x ≥ y3.
x ≤ y4.
x = y or relation between x and y can not be established.5.

Que. 54 In the given question, two equations numbered l and II are given. Solve both the equations and mark
the appropriate answer.

I. x2 - 7x + 10 = 0

II. y2 - 29y + 54 = 0

Correct Option - 5

x > y1.
x < y2.
x ≥ y3.
x ≤ y4.
No relation in x and y or x = y5.

Que. 55 In the given question, two equations numbered l and II are given. Solve both the equations and mark
the appropriate answer.

I. x  + 19x + 34 = 0
II. y  + 21y + 54 = 0

2

2

x > y1.
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Correct Option - 5

x < y2.
x ≥ y3.
x ≤ y4.
x = y or the relationship between x and y cannot be established.5.

Que. 56 Direction: The given bar graph shows the number of boys and girls four classes. Study the following
data and answer the following questions:

 

Find the ratio of the number of  boys in class A to the number of girls in class C.

Correct Option - 4

13 : 141.
14 : 152.
15 : 163.
16 : 174.
None of these5.

Que. 57 What is the difference between the number of boys and girls together in class C and D?

Correct Option - 2

251.
152.
203.
104.
None of these 5.

Que. 58 Find that the number of boys in class A is how much percent more than the number of boys in class C.
37.5%1.

42.5%2.
33.33%3.
47.5%4.
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Correct Option - 3
None of these5.

Que. 59 Find the average of the number boys in class A and C together and the number of girls in C and D
together.

Correct Option - 1

751.
852.
723.
784.
None of these5.

Que. 60 Find the ratio of the number of boys in class A and C together to the number of girls in class C and
D together.

Correct Option - 2

27 : 281.
28 : 292.
29 : 303.
26 : 274.
None of these5.

Que. 61 In a group of 160 people, 100 people like tennis and 20 people like both cricket and tennis. If each one
likes at least one of these two games, then find the ratio between the number of people who like only

cricket and the number of people who like only tennis.

Correct Option - 2

4 : 31.
3 : 4 2.
5 : 43.
4 : 54.
None of these5.

Que. 62 A certain sum of money is distributed among Ravi, Rahul, and Raj in ratio 8 : 5 : 7 in such a way that
share of Ravi was Rs. 1000 less than that the sum of share of Rahul and Raj. Find the difference

between the shares of Ravi and Raj?

Correct Option - 3

Rs. 4501.
Rs. 3502.
Rs. 2503.
Rs. 1904.
None of these5.

Que. 63 Radha's expenditure is 20% of her income. If the income for next month is increased by 20%, and the
amount of savings remains the same, then find the percentage increase in expenditure of Radha.
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Correct Option - 4

200%1.
50%2.
150%3.
100%4.
None of these5.

Que. 64 A container filled with mixture of milk and water. The ratio of quantity of milk and water in the
mixture is 3 : 7. When 10 litres of milk added into the mixture and 6 litres of water removed then ratio

of milk and water becomes 5 : 8. Find the difference between the quantity of water and milk in the new mixture.

Correct Option - 3

15 litres1.
36 litres2.
24 litres3.
30 litres4.
20 litres5.

Que. 65 The ratio of present ages of A and B is 7 : 8. After 6 years from now, the ratio of their ages will be 8 :
9. If C's present age is 10 years more than the present age of A, then the present age (in years) of C is:

Correct Option - 4

591.
562.
453.
524.
555.

Que. 66 Directions: Read the given table carefully and answer the questions based on it. 
Given table shows the total number of persons (Male and Female) applying for reservations in

different hotels (A, B, C, D, and E) and the percentage of females, who applied for Reservations in different
hotels. 

Hotels Total number of persons
applying for Reservations

Percentage of Females, who
applied for Reservations

A 440 30
B 330 60
C 484 25
D 672 50
E 540 40

 

Total number of males, who applied for hotel reservations in all hotels together is what percent of total number of
females, who applied for hotel reservations in all hotels together?

144.56%1.
149.67%2.
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Correct Option - 4

132.45%3.
145.28%4.
142.76%5.

Que. 67 If 25% of females, who applied for Hotel reservations in Hotel A, applied for Hotel reservations in
Hotel F, and 200 males applied for hotel reservations in Hotel F, then what is the total number of

people, applied for Hotel reservations in Hotel F?

Correct Option - 3

2421.
2252.
2333.
2564.
None of these5.

Que. 68 Number of Female, who applied for reservations in Hotel C is what percent of number of males, who
applied for reservations in Hotel E?

Correct Option - 5

35%1.
32%2.
33.33%3.
66.66%4.
None of these5.

Que. 69 What is the total number of Males, who applied for Reservations in all five hotels together?

Correct Option - 2

14411.
14632.
14993.
14524.
14335.

Que. 70 Total number of males, who applied for Hotel reservations in Hotel B and C together is how much
more/less than the number of females, who applied for Hotel reservations in Hotel E and D together?

Correct Option - 1

57, More1.
59, Less2.
58, More3.
58, Less4.
None of these5.

Que. 71 Read the passage and answer the questions that follow. Some words may be highlighted for you.
Pay careful attention.
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In order for it to be fraud in the legal sense the person on whom the fraud was sought to be committed should
have necessarily fallen prey to it. If an attempt of fraud is made but the person concerned was not actually
deceived, it is not ‘fraud’ as understood legally. Bank fraud is a fraud committed on banks mainly by fraudulent
representations using false documents. Bank fraud concerns all citizens. It is a very sensitive issue as it affects
the public faith on which the whole Banking system is predominantly based. Bank fraud includes all sorts of
misappropriations, embezzlements, manipulations of negotiable instruments like cheques, bank drafts, bills or
statements of accounts, securities etc. With the boom in the banking business, bank frauds are also on the rise.
Bank fraud is covered under the Indian Penal Code. Cheques are a major area where frauds are committed by
putting counterfeit signature on the cheque. After the economic liberalization started in 1991 in India’s banking
system, there has been a lot of expansion and changes have also taken place. Generally, arrangements are also
made to monitor banks in every country. And the Reserve Bank does this work in India, but despite this, banks in
India have their own challenges. These challenges are related to ethics, financial crisis, and corporate
governance in the functioning of banks. The ever-increasing NPA (sinking debt of banks) and the money
withdrawn by fraud is troubling the banks. According to RBI annual report 2019-20, the amount involved in
banking frauds is Rs 1.85 lakh crore in 2019-20 and the number of frauds is 8,707. But several big bank
frauds have put the banking system in India in serious condition. With this, serious questions have also arisen on
the credibility of the monitoring and audit system of banks. Finance Minister Arun Jaitley says that if there are
scams happening in many branches of the same bank and no voice is raised then it is a matter of concern. It is
regrettable that the bank management remained ignorant of this matter or negligent. Those who do business in
the country should do their work with ethics otherwise its consequences can be serious. Apart from all this, banks
should also take special care of their employees because some employees work closely with the fraudsters. 

Select the most appropriate word(synonym) for the emboldened word - 'serious'

Correct Option - 3

Trivial 1.
Unimportant2.
Important3.
Superficial4.
Uncommitted 5.

Que. 72 Select the most appropriate antonym for the word "regrettable".

Correct Option - 5

Undesirable1.
Sorry2.
Disappointing3.
Unfortunate4.
Desirable5.

Que. 73 Why is bank fraud a sensitive issue? 

Correct Option - 1

it affects public faith1.
It undergoes lots of expansion and changes2.
It contains misappropriations3.
It is done by fraudulent4.
None of the above5.
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Que. 74 What are the major areas where frauds are committed? 

Correct Option - 3

Banks1.
Public2.
Cheques3.
Corporate companies4.
None of the above 5.

Que. 75 Select the most appropriate synonym for the word "negotiable".

Correct Option - 4

mismanage1.
misconduct2.
quash3.
debatable4.
inflexible5.

Que. 76 How should one do business in the country?

Correct Option - 2

One must be aware of frauds1.
One should do their work with ethics 2.
One should try out new things3.
One must create new connections4.
None of the above5.

Que. 77 According to Finance Minister Arun Jaitley, what is a matter of concern? 

Correct Option - 3

Challenges faced by banks1.
Ethics and financial crisis2.
No voice raised against the scams3.
sinking debts of banks4.
None of the above5.

Que. 78 Select the most appropriate sentence with respect to grammar and usage.

Correct Option - 1

There is nothing left in this world except hatred and despair.1.
I am coming on town this week.2.
No one are perfect in this world.3.
Please return back my money.4.
None of these5.

Que. 79 Select the most appropriate sentence with respect to grammar and usage.
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Correct Option - 1

Cristiano is the best player in the world.1.
Please don't me leave alone.2.
The library comprises of books and notes.3.
Messi play a very good game yesterday.4.
None of these5.

Que. 80 Select the most appropriate sentence with respect to grammar and usage.

Correct Option - 4

I am smart but I study never.1.
I will abide with the rules.2.
Is any there way to tackle the problem?3.
I will not only go to the party but also enjoy it.4.
None of these5.

Que. 81 In the following question, parts of a sentence have been jumbled and labelled as P, Q, R, and S.
You are required to rearrange the jumbled parts of the sentence and mark your response

accordingly by selecting the correct option.
P. who became famous as an artillery commander / Q. during the French Revolution / R. statesman and military
leader / S. Napoleon Bonaparte was a

Correct Option - 4

PSQR1.
QSRP2.
SQPR3.
SRPQ4.
PQSR5.

Que. 82 In the following question, parts of a sentence have been jumbled and labelled as P, Q, R, and S.
You are required to rearrange the jumbled parts of the sentence and mark your response

accordingly by selecting the correct option.
P.  ate a huge / Q. after my exam, I / R. lunch with / S. my friend

Correct Option - 1

QPRS1.
PQRS2.
SQRP3.
SPRQ4.
RPQS5.

Que. 83 Each of the following items in this section consists of a sentence, parts of which have been
jumbled. These parts have been labelled as P, Q, R and S. You are required to re-arrange the

jumbled parts of the sentence and mark your response accordingly.
enough potassium, /(P) banana provides /(Q) from various sugars /(R) and sustained energy /(S)

RSPQ1.
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Correct Option - 3

PQRS2.
QPSR3.
RPSQ4.
QSRP5.

Que. 84 Directions: In the given sentence, three words are marked as (A), (B), and (C). These words may
or may not be placed in their right places. For options with different arrangements of these

words are given below, mark the option with the correct arrangement as your answer. If no change is
required mark 'No rearrangement required' as your answer.
Kolkata, with one the largely(A) road space among the metropolis of the country, is fast(B) dependent on metro
railway services for lowest(C) movement of passengers.

Correct Option - 4

ACB1.
CBA2.
BAC3.
CAB4.
No rearrangement required5.

Que. 85 Directions: In the given sentence, three words are marked as (A), (B), and (C). These words may
or may not be placed in their right places. For options with different arrangements of these

words are given below, mark the option with the correct arrangement as your answer. If no change is
required mark 'No rearrangement required' as your answer.
It is not easy to always be original and maintain credit(A) but this does not justify taking acknowledgement(B)
for someone else’s work without explicit permission or consistency(C).

Correct Option - 3

BAC1.
ACB2.
CAB3.
CBA4.
No rearrangement required5.

Que. 86 Directions: In the given sentence, three words are marked as (A), (B), and (C). These words may
or may not be placed in their right places. For options with different arrangements of these

words are given below, mark the option with the correct arrangement as your answer. If no change is
required mark 'No rearrangement required' as your answer.
Reserve Bank of India Governor Shaktikanta Das said that the economy(A) policy will continue to be agile and
alert to effectively(B) address challenges to the monetary(C).

Correct Option - 4

ACB1.
BAC2.
CAB3.
CBA4.
No rearrangement required5.
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Que. 87 Direction: The given sentence contains a blank. Identify the phrase/statement that can make the
given sentence grammatically and contextually correct.   

_________, Asahi Shimbun, recently published an editorial urging Prime Minister Yoshihide Suga to cancel
Tokyo 2020.

Correct Option - 4

One of a largest Japanese newspapers1.
One of the larger Japanese newspapers2.
One of the largest Japanese newspaper3.
One of the largest Japanese newspapers4.
One of largest Japanese newspapers5.

Que. 88 Direction: The given sentence contains a blank. Identify the phrase/statement that can make the
given sentence grammatically and contextually correct.   

________ diplomatic relations, but there are periodical political talks. 

Correct Option - 1

China and Bhutan do not maintain1.
China and Bhutan does not maintain2.
China and Bhutan do not maintains3.
The China and Bhutan do not maintain4.
The China and the Bhutan do not maintain5.

Que. 89 Direction: The given sentence contains a blank. Identify the phrase/statement that can make the
given sentence grammatically and contextually correct.   

It must be admitted that Nepal has ________ mechanism to execute it if any.

Correct Option - 4

either a well-articulated foreign policy nor an effective1.
neither a well-articulated foreign policy or an effective2.
neither a well-articulated foreign policy nor have an effective3.
neither a well-articulated foreign policy nor an effective4.
neither a well-articulated foreign policies nor an effective5.

Que. 90 Direction: The given sentence contains a blank. Identify the phrase/statement that can make the
given sentence grammatically and contextually correct. 

Industries and mining not only use land and water ________ of pollutants back into the environment.

Correct Option - 2

in its processing but also add a tremendous1.
for their processing but also add a tremendous2.
to the processing but also added a tremendous3.
to their processing and also add a tremendous4.
for their processing while adding a tremendous5.

Que. 91
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In the following passage there are blanks each of which has been numbered. The numbers are printed
below the passage and against each five words are suggested one of which fits the blank appropriately.
Find out the appropriate word in each case.
The world should react with the same urgency to climate change as to the coronavirus ____(A)_____, the Red
Cross said Tuesday, warning that global warming poses a greater threat than COVID-19. "Even as the pandemic
rages, climate change is not taking a break from wreaking ___(B)_____", the International Federation of Red
Cross and Red Crescent societies (IFRC) said in a new report. In the report, on global catastrophes since the
1960s, the Geneva-based organization pointed out that the world had been hit by more than 100 disasters (many
of them climate related) since the World Health Organization declared the pandemic in March. More than 50
million people had been affected, it said. "Of course, the COVID-19 is there, it's in front of us, it is affecting our
families, our friends, our relatives," IFRC Secretary-General Jagan Chapagain told a virtual press
conference. "It's a very, very serious crisis the world is facing currently," he said of the pandemic, which has
already _____(C)____ more than 1.3 million lives. But he warned that the IFRC expects "climate change will
have a more significant medium and long term impact on the human life and on Earth." And while it looked
increasingly likely that one or several vaccines would soon become _____(D)_____ against COVID-19,
Chapagain stressed that "unfortunately there is no vaccine for climate change". When it comes to global
warming, he warned, "it will require a much more ____(E)_____ action and investment to really protect the
human life on this Earth." The frequency and intensity of extreme weather and climate-related
____(F)______ had already increased considerably in recent decades", said the IFRC. In 2019 alone, the world
was hit by 308 natural disasters (77 percent of them climate or weather-related) killing some 24,400 people. The
number of climate and weather-related disasters has been steadily climbing since the 1960s, and has surged by
nearly 35 percent since the 1990s, IFRC said. This is a ____(G)____ development. Weather and climate-related
disasters have killed more than 410,000 people over the past decade, most of them in poorer countries, with
heatwaves and storms proving the most deadly, the report said. Faced with this threat, which "literally
______(H)______ our long-term survival", IFRC called on the international community to act with the urgency
required.

Which of the following words most appropriately fits the blank labelled (H)?

Correct Option - 2

Highlights1.
Threatens2.
Signifies3.
Increases4.
Provides5.

Que. 92 Which of the following words most appropriately fits the blank labelled (B)?

Correct Option - 3

Change1.
Disaster2.
Havoc3.
Disruption4.
Circumstance5.

Que. 93 Which of the following words most appropriately fits the blank labelled (A)?
Crisis1.

Problem2.
Generic3.
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Correct Option - 1

Mistake4.
Miracle5.

Que. 94 Which of the following words most appropriately fits the blank labelled (C)?

Correct Option - 3

Complained1.
Obsessed2.
Claimed3.
Attached4.
Controlled5.

Que. 95 Which of the following words most appropriately fits the blank labelled (G)?

Correct Option - 2

Significant1.
Deadly2.
Imperative3.
Incredibly4.
Desolate5.

Que. 96 Which of the following words most appropriately fits the blank labelled (D)?

Correct Option - 4

Obligatory1.
Scarce2.
Malignant3.
Available4.
Absolute5.

Que. 97 Which of the following words most appropriately fits the blank labelled (E)?

Correct Option - 3

Deliberate1.
Rejected2.
Sustained3.
Revoked4.
Eluded5.

Que. 98 Which of the following words most appropriately fits the blank labelled (F)?
Events1.

Opportunities2.
Pandemic3.
Candid4.
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Correct Option - 1
Devastation5.

Que. 99 In the following sentence, four words are given in bold out of which one word is misspelled. Find
the misspelled word.

The liability(A) to contribute(B) is incoate(C) only when the sacrifice(D) has been made. 

Correct Option - 2

A1.
C2.
B3.
D4.
No Error5.

Que. 100 In the following sentence, four words are given in bold out of which one word is misspelled.
Find the misspelled word.

Refusing to let the enemy(A) see how deeply shaken(B) he was by his capture(C), the prisoner kept his face
inpassive(D).

Correct Option - 3

A1.
B2.
D3.
C4.
None of the above5.
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